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1. On dividing a number by 38, the quotient
is 24 and the remainder is 13, then the
number is :

fdlh la[;k dks 38 ls Hkkx nsus ij HkkxiQy 24 rFkk
'ks"kiQy 13 vkrk gSA og la[;k dkSu&lh gS\

SSC CPO 16 March 2019 (Morning)

(a) 925 (b) 975

(c) 904 (d) 956

2. When a number x is divided by a divisor
it is seen that the divisor = 4 times the
quotient = double the remainder. If the
remainder is 80, then the value of x is :

tc la[;k x dks ,d Hkktd ls Hkkx nsus ij ns[kk
tkrk gS fd HkkxiQy dk pkj xquk] 'ks"kiQy ds nksxqus
ds cjkcj gSA ;fn 'ks"kiQy 80 gS] rks x dk eku gS %
(a) 6480 (b) 9680

(c) 8460 (d) 4680

3. The divisor is 24 times the quotient and
8 times the remainder. If the quotient is
18, then the dividend is :

Hkktd HkkxiQy dk 24 xquk vkSj 'ks"k 8 xquk gSA ;fn
HkkxiQy 18 gS] rks HkkT; gS %

CHSL 2019 26/10/2020 (Evening)

(a) 7830 (b) 7630

(c) 7840 (d) 7450

4. A number when divided by the sum of
555 and 445 gives two times their
difference as quotient and 30 as the
remainder. The number is :

fdlh la[;k dks tc 555 vkSj 445 ds ;ksxiQy ls
foHkkftr fd;k tkrk gS rks HkkxiQy bu nksuksa la[;kvksa
ds varj dk nksxquk rFkk 'ks"kiQy 30 izkIr gksrk gSA ;s
la[;k gS %
(a) 220030 (b) 23030

(c) 1220 (d) 1250

5. A number when divided by 44, gives 432
as quotient and 10 as remainder. What
will be the remainder when dividing the
same number by 31?

fdlh la[;k dks 44 ls Hkkx nsus ij HkkxiQy 432
vkSj 'ks"k 10 izkIr gksrk gSA mlh la[;k dks 31 ls
foHkkftr djus ij 'ks"kiQy D;k izkIr gksxk\
(a) 3 (b) 4

(c) 5 (d) 6

NUMBER SYSTEM : REMAINDER
(la[;k i¼fr % 'ks"kiQy)

6. When n is divided by 4, the remainder is
3. The remainder when 2n is divided by
4 is :

tc n dks 4 ls foHkkftr fd;k tkrk gS 'ks"k 3 izkIr
gksrk gSA tc 2n dks 4 ls foHkkftr fd;k tkrk gS
rks 'ks"kiQy D;k izkir gksxk\
(a) 1 (b) 2

(c) 3 (d) 6

7. When the integer n is divided by 7, the
remainder is 3. What is the remainder if
5n is divided by 7?

tc iw.kk±d n dks 7 ls foHkkftr fd;k tkrk gS] rks
'ks"kiQy 3 vkrk gSA tc 5n dks 7 ls foHkkftr fd;k
tk,xk rks 'ks"kiQy D;k vk,xk\

SSC CPO 16 March 2019 (Morning)

(a) 3 (b) 0

(c) 1 (d) 2

8. When an integer n is divided by 8, the
remainder is 3. What will be the
remainder if 6n – 1 is divided by 8?

tc iw.kk±d n dks 8 ls foHkkftr fd;k tkrk gS rks
'ks"kiQy 3 vkrk gSA 'ks"kiQy D;k gksxk tc 6n – 1

dks 8 ls foHkkftr fd;k tkrk gS\
SSC CGL 13 June 2019 (Evening)

(a) 4 (b) 1

(c) 0 (d) 2

9. If 5 divided the integer n, the remainder
is 2. What will be the remainder if 7n is
divided by 5?

;fn 5 ls iw.kk±d n esa Hkkx fn;k tk,] rks 'ks"kiQy 2
vkrk gSA ;fn 7n esa 5 ls Hkkx fn;k tk,] rks 'ks"kiQy
fdruk vk,xk\

SSC CGL 9 March 2020 (Afternoon)

(a) 1 (b) 4

(c) 3 (d) 2

10. When an integer n is divided by 5, the
remainder is 3. What is the remainder if
8n  is divided by 5?

tc fdlh iw.kk±d n dks 5 ls Hkkx fn;k tkrk gS] rks
'ks"kiQy 3 vkrk gSA tc 8n dks 5 ls Hkkx fn;k tk,xk]
rks 'ks"kiQy fdruk vk,xk\

CHSL 2019 12/10/2020 (Evening)

(a) 1 (b) 4

(c) 2 (d) 3
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11. If a positive integer n is divided by 7, the

remainder is 2. Which of the numbers in
the options yields a remainder of 0 when

it is divided by 7?

;fn ,d /ukRed iw.kk±d n dks 7 ls foHkkftr fd;k
tkrk gS] rks 'ks"k 2 gSA fodYiksa esa ls dkSu&lh la[;k
7 ls foHkkftr gksus ij 'ks"k 0 nsrk gS\

CHSL 2019 18/03/2020 (Afternoon)

(a) n + 3

(b) n + 1

(c) n + 2

(d) n + 5

12. When n is divided by 5, the remainder is

3. What is the remainder when n2 is
divided by 5 ?

tc n dks 5 ls foHkkftr fd;k tkrk gS rks 'ks"kiQy
3 izkIr gksrk gSA n2 dks 5 ls foHkkftr djus ij izkIr
'ks"kiQy gS %
(a) 2 (b) 3

(c) 1 (d) 4

13. For any integeral value of n, 32n + 9n + 5,

when divided by 3 will leave the remainder :

n ds fdlh iw.kk±d eku ds fy, 32n + 9n + 5 dks
tc 3 ls foHkkftr fd;k tkrk gS rks izkIr 'ks"kiQy
gksxk %
(a) 1 (b) 2

(c) 0 (d) 5

14. Given n is an integer, what is the
remainder when (6n + 3)2 is divided by 9?

fn;k x;k n ,d iw.kk±d gSA tc (6n + 3)2 dks 9 ls
Hkkx fn;k tkrk gS] rc 'ks"kiQy D;k vk,xk\

SSC CGL 8 July 2019 (Afternoon)

(a) 3 (b) 2

(c) 1 (d) 0

15. If 14331433 × 1422 × 1425 is divided by

12, then what is the remainder?

tc 14331433 × 1422 × 1425 dks 12 ls
foHkkftr fd;k tkrk gS rks 'ks"kiQy Kkr djsaA

SSC CPO 2019 23/11/2020 (Morning)

(a) 3 (b) 9

(c) 8 (d) 6

16. The remainder when 75 × 73 × 78 × 76 is

divided by 34 is :

75 × 73 × 78 × 76 dks 34 ls foHkkftr fd;k
tkrk gS] rks 'ks"k Kkr djsaA

SSC CPO 2019 23/11/2020 (Evening)

(a) 18 (b) 12

(c) 22 (d) 15

17. The remainder when 72 × 73 × 78 × 76 is
divided by 35 is :

72 × 73 × 78 × 76 dks 35 ls foHkkftr fd;k
tkrk gS rks 'ks"k Kkr djsaA

SSC CPO 2019 24/11/2020 (Morning)

(a) 8 (b) 15

(c) 22 (d) 12

18. When a positive integer is divided by d,
the remainder is 15. When ten times of
the same number is divided by d, the
remainder is 6. The least possible value
of d is :

tc ,d /ukRed iw.kk±d dks d ls Hkkx fn;k tkrk
gS] rks 'ks"kiQy15 vkrk gSA tc blh la[;k ds 10
xquk dks d ls Hkkx fn;kt krk gS] rks 'ks"kiQy 6 vkrk
gSA d dk U;wure laHko eku gks ldrk gS %

SSC CGL 5 March 2020 (Evening)

(a) 9 (b) 12

(c) 16 (d) 18

19. If a number is divided by 899, the
remainder is 63. If the same number is
divided by 29, the remainder will be :

;fn ,d la[;k dks 899 ls foHkkftr fd;k tkrk gS]
rks 'ks"k 63 cprk gSA ;fn mlh la[;k dks 29 ls
foHkkftr fd;k tkrk gS] rks 'ks"k la[;k D;k cpsxk\

CHSL 2019 26/10/2020 (Morning)

(a) 10 (b) 2

(c) 4 (d) 5

20. When an integer K is divided by 3, the
remainder is 1 and when K + 1 is divided
by 5, the remainder is 0. Of the following
a possible value of a K is :

tc K dks 3 ls foHkkftr fd;k tkrk gS rks 'ks"k 1
izkIr gksrk gS vkSj tc K + 1 dks 5 ls foHkkftr
fd;k tkrk gS rks 'ks"k 0 izkIr gksrk gSA K dk laHko
eku Kkr djsaA
(a) 62 (b) 60

(c) 64 (d) 65

21. When two number are seperately divided
by 33, the remainder are 21 and 28
respectively. If the sum of the two
numbrs is divided by 33, the remainder
will be :

tc nks la[;kvksa dks vyx&vyx 33 ls foHkkftr
fd;k tkrk gS rks 'ks"k Øe'k% 21 vkSj 28 izkIr gksrk
gSA ;fn nksuksa la[;kvksa ds ;ksxiQy dks 33 ls foHkkftr
fd;k tk, rks 'ks"k izkIr gksxk %
(a) 10 (b) 12

(c) 14 (d) 16
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22. A student was asked to divide a number
by 6 and add 12 to the quotient. He
however, first added 12 to the number
and then divided it by 6, getting 112 as
the answer. The correct answer should
have been

,d fo|kFkhZ dks ,d la[;k dks 6 ls Hkkx nsdj
HkkxiQy esa 12 tksM+us dks dgk x;kA gkyk¡fd] mlus
igys la[;k esa 12 tksM+k vkSj fiQj mls 6 ls foHkkftr
fd;k] mÙkj ds :i esa 112 çkIr gqvkA lgh mÙkj
gksuk pkfg, Fkk %
(a) 124 (b) 122

(c) 118 (d) 114

23. Two positive numbers differ by 2001.
When the larger number is divided by the
smaller number, the quotient is 9 and
remainder is 41. The sum of the digits of
the larger number is :

nks /ukRed la[;kvksa esa 2001 dk varj gSA tc cM+h
la[;k dks NksVh la[;k ls Hkkx fn;k tkrk gS] rks
HkkxiQy 9 vkrk gS rFkk 'ks"kiQy 41 vkrk gSA cM+h
vadksa ds vadksa dk ;ksx gS %

SSC CGL Tier-II, 13 September 2019

(a) 15 (b) 11

(c) 10 (d) 14

24. The remainder is 1 after dividing a
number by 3, when quotient is divided by
2, the remainder is 1. If initial number is
divided by 6, the remainder will be :

fdlh la[;k dks 3 ls Hkkx nsus ij 'ks"kiQy 1 vkrk
gSA tc bl HkkxiQy dks 2 ls Hkkx fn;k tkrk gS rks
'ks"kiQy 1 vkrk gSA ;fn izkjafHkd la[;k dks 6 ls
Hkkx fn;k tk, rks 'ks"kiQy D;k izkIr gksxk\
(a) 3

(b) 4

(c) 5

(d) 2

25. When a number is divided by 13 leaves
remainder 1 and similarly its quotient is
divided by 5 leaves remainder 3. Then
what will be the remainder if that number
is divided by 65?

fdlh la[;k dks 13 ls Hkkx nsus ij 'ks"kiQy 1 vkrk
gS rFkk bl izdkj izkIr HkkxiQy dks 5 ls Hkkx nsa rks
'ks"kiQy 3 vkrk gSA ml la[;k dks 65 ls Hkkx nsus
ij D;k'ks"k jgsxk \
(a) 28

(b) 16

(c) 18

(d) 40

26. If a number is divided by 3, the remainder
will be 2. If the number is added by 5 and
then divided by 3, then what will be the
remainder?

;fn ,d la[;k dks 3 ls foHkkftr fd;k tkrk gS] rks
'ks"k 2 gksxkA ;fn la[;k dks 5 ls tksM+k tkrk gS vkSj
fiQj 3 ls foHkkftr fd;k tkrk gS] rks 'ks"k D;k gksxk\

CHSL 2019 17/03/2020 (Afternoon)

(a) 3 (b) 1

(c) 2 (d) 0

27. If two number x and y is separately
divided by a number the ramainder is
4376 and 2986 respectively. If the sum
of that numbers i.e. (x + y) is divided by
that number 'd' then the remainder is
2361. The value of number d is :

;fn nks la[;kvksa x rFkk y dks fdlh la[;k 'd' ls
vyx&vyx Hkkx fd;k tk, rks 'ks"k Øe'k% 4376

rFkk 2986 izkIr gksrk gSA ;fn ml la[;kvksa ds ;ksx]
vFkkZr~ (x + y) dks mlh la[;k 'd' ls Hkkx fn;k tk,
rks 'ks"k 2361 izkIr gksrk gSA la[;k d dk eku gS &
(a) 7362 (b) 5000

(c) 4000 (d) 2542

28. The number which is divided by 10 leaves
9 as remainder when it is divided by 9
leaves 8 as remainder and when it is
divided by 8 leaves 7 as remainder is :

og la[;k] ftls 10 ls Hkkx nsus ij 9] 9 ls Hkkx
nsus ij 8 rFkk 8 ls Hkkx nsus ij 7 'ks"k cprk gS]
og gS %
(a) 1539

(b) 539

(c) 359

(d) 1359

29. If a certain number of two digits is
divided by the sum of its digits, the
quotient is 6 and remainder is 3. If the
digits are reversed and the resulting
number is divided by the sum of the
digits, the quotient is 4 and the
remainder is 9. The sum of the digits of
the number is :

nks vadksa okyh ,d la[;k dks buds vadksa ds ;ksx ls
foHkkftr djus ij HkkxiQy 6 vkSj 'ks"k 3 izkIr gksrk
gSA ;fn vadksa ds Øe dks myVus ij ifj.kkeh la[;k
dks vadksa ds ;ksx ls foHkkftr djus ij HkkxiQy 4
vkSj 'ks"k 9 izkIr gksrk gSA la[;k ds vadksa dk ;ksxiQy
gS %
(a) 6 (b) 9

(c) 12 (d) 4
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30. Let x be the greatest number which when
divides 6475, 4984 and 4132, the
remainder in each case is the same. What
is the sum of digits of x ?

eku yhft, fd x lcls cM+h la[;k gS tks 6475,

4984 vkSj 4132 dks foHkkftr djus ij gj ekeys
esa leku 'ks"kiQy NksM+rh gSA x ds vadksa dk tksM+ D;k
gS\

SSC MTS 22 August 2019 (Morning)

(a) 4 (b) 7

(c) 5 (d) 6

31. When 6892, 7105 and 7531 are divided
by the greatest number x, then the
remainder in each case is y. What is the
value of
(x – y) ?

tc 6892, 7105 vkSj 7531 dks lcls cM+h la[;k
x ls foHkkftr fd;k tkrk gS] rks izR;sd ekeys esa
'ks"kiQy  y vkrk gSA (x – y) dk eku Kkr djsaA ?

SSC MTS 22 August 2019 (Afternoon)

(a) 123 (b) 137

(c) 147 (d) 113

32. x is the greatest number by which, when
2460, 2633 and 2806 are divided, the
remainder in each case is the same. What
is the sum of digits of x ?

x og lcls cM+h la[;k gS ftlls 2460, 2633 vkSj
2806 dks foHkkftr djus ij] gj ekeys esa 'ks"kiQy
leku vkrk gSA x ds vadksa dk ;ksx D;k gS\

SSC MTS 22 August 2019 (Evening)

(a) 11 (b) 1

(c) 13 (d) 9

33. When 7897, 8110 and 8536 are divided
by the greatest number x, then the
remainder in each case is the same. The
sum of the digits of x is :

tc 7897, 8110 vkSj 8536 dks lcls cM+h la[;k
x ls foHkkftr fd;k tkrk gS rks izR;sd ekeys esa
'ks"kiQy leku vkrk gSA x ds vadksa dk tksM+ gS %

SSC CGL Tier-II, 11 September 2019

(a) 14 (b) 5

(c) 9 (d) 6

34. What is the sum of digits of the least
number, which when divided by 15, 18
and 42 leaves the same remainder 8 in
each case and is also divisible by 13?

ml U;wure la[;k ds vadksa dk ;ksx D;k gksxk tks
15, 18 vkSj 42 ls foHkkftr gksus ij izR;sd fLFkfr
esa ,d gh 'ks"k 8 jgrk gS vkSj 13 ls foHkkT; Hkh gS ?

SSC CPO 13 March 2019 (Evening)

(a) 25 (b) 24

(c) 22 (d) 26

35. When 12, 16, 18, 20 and 25 divide the
least number x, the remainder in each
case is 4 but x is divisible by 7. What is
the digit at the thousand place in x ?

tc 12, 16, 18, 20 vkSj 25 U;wure la[;k x dks
foHkkftr djrs gSa] rks gj ekeys esa 'ks"kiQy 4 vkrk
gS ysfdu x, 7 ls foHkkftr gSA x ds gtkjosa LFkku ij
dkSu&lk vad gS\

SSC CGL Tier-II, 11 September 2019

(a) 5 (b) 8

(c) 4 (d) 3

36. What is the sum of the digits of the least
number, which when divided by 12, 16
and 54, leaves the same remainder 7 in
each case and is also completely divisible
by 13?

ml lcls NksVh la[;k ds vadksa dk ;ksx Kkr djsa
ftls 12, 16 vkSj 54 ls Hkkx nsus ij gj ckj 7
'ks"kiQy vkrk gS vkSj ;g 13 ls Hkh iw.kZr% foHkkftr
gSA

SSC CPO 16 March 2019 (Morning)

(a) 36 (b) 16

(c) 9 (d) 27

37. Let x be the least number which when
divided by 15, 18, 20 and 27, the
remainder in each case is 10 and x is a
multiple of 31. What least number should
be added to x to make it a perfect square?

eku yhft, fd x og lcls NksVh la[;k gS ftls
15, 18, 20 vkSj 27 ls foHkkftr djus ij izR;sd
fLFkfr esa 'ks"kiQy 10 vkrk gS vkSj x, 31 dk ,d
xq.kt gSA x esa U;wure dkSu&lh la[;k tksM+h tkuh pkfg,
rkfd ;g iw.kZ oxZ cu tk,\

SSC CGL Tier-II, 12 September 2019

(a) 39 (b) 37

(c) 43 (d) 36

38. When a number is successively divided by
3, 4 and 7, the remainder obtained are 2,
3 and 5 respectively. What will be the
remainder when 84 divides the same
number?

tc dksbZ la[;k Øfed :i ls 3] 4 vkSj 7 ls foHkkftr
gksrh gS] rks izkIr 'ks"k Øe'k% 2] 3 vkSj 5 gksrs gSaA
tc mlh la[;k dks 84 ls foHkkftr djrs gSa rks 'ks"k
D;k gksxk\

SSC CPO 2019 24/11/2020 (Evening)

(a) 71 (b) 53

(c) 30 (d) 48
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39. When a number is successively divided by
3, 4 and 7, the remainder obtained is 2,
3 and 5 respectively. What will be the
remainder when 42 divides the same
number?

tc dksbZ la[;k Øfed :i ls 3] 4 vkSj 7 ls foHkkftr
gksrh gS] rks izkIr 'ks"k Øe'k% 2] 3 vkSj 5 gksrh gSA
tc 42 mlh la[;k dks foHkkftr djrs gSa rks 'ks"k
D;k gksxk\

SSC CPO 2019 25/11/2020 (Evening)

(a) 31 (b) 41

(c) 30 (d) 29

40. When a positive integer divided by 16, 17
and 18 leaves remainders of 6, 7 and 8
respectively. Find the remainder when
N2 + 5N + 6 is divided by 11?

tc ,d /ukRed iw.kk±d la[;k dks 16, 17 vkSj 18

ls foHkkftr fd;k tkrk gS rks Øe'k% 6, 7 vkSj 8
'ks"k cprk gSA tc N2 + 5N + 6 dks 11 ls foHkkftr
fd;k tkrk gS rks 'ks"kiQy Kkr djsaA
(a) 1 (b) 2

(c) 4 (d) 7

41. A number when successively divided by
3, 5 and 8 leaves remainder 1, 4 and 7
respectively. Find the respective
remainder when the order of the divisors
is reversed.

,d la[;k dks tc Øfed :i ls 3] 5 vkSj 8 ls
foHkkftr fd;k tkrk gS rks 'ks"kiQy Øe'k% 1] 4 vkSj
7 izkIr gksrk gSA tc Hkktd dk Øe myV fn;k tkrk
gS] rks lacaf/r 'ks"kiQy Kkr dhft,A
(a) 8 , 5, 3 (b) 4, 2, 1

(c) 3, 2, 1 (d) 6, 4, 2

42. A number when successively divided by
4 and 5 leaves remainder 1 and 4
respectively. When it is successively
divided by 5 and 4, the respective
remainder will be :

,d la[;k dks tc Øfed :i ls 3 vkSj 5 ls
foHkkftr fd;k tkrk gS rks 'ks"kiQy Øe'k% 1 vkSj 4
izkIr gksrk gSA tc bls Øfed :i ls 5 vkSj 4 ls
foHkkftr fd;k tkrk gS rks lacaf/r 'ks"kiQy gksxk %
(a) 4, 1

(b) 3, 2

(c) 2, 3

(d) 1, 2

43. A number on being divided by 3 and 4
successively leaves the remainder 1 and
2 respectively. Find the remainder when
the same number is divided by 10 it last
quotient is ?

,d la[;k dks Øe'k% 3 vkSj 4 ls foHkkftr djus
ij Øe'k% 1 vkSj 2 'ks"kiQy izkIr gksrk gSA tc mlh
la[;k dks 10 ls foHkkftr fd;k tkrk gS ij tks
mldk vafre HkkxiQy gS] 'ks"kiQy Kkr dhft,A
(a) 1 (b) 2

(c) 3 (d) 4

44. A number when successively divided by
2, 4 and 5 leaves remainder 1, 2 and 1.
Find out first three lower number?

,d la[;k dks Øfed :i ls 2] 4 vkSj 5 ls foHkkftr
djus ij 'ks"kiQy 1] 2 vkSj 1 izkIr gksrk gSA izFke
rhu NksVh la[;k Kkr djsaA
(a) 53, 93, 133 (b) 123, 53, 93

(c) 13, 93, 133 (d) 93, 133, 173

45. A number on being divided by 3, 4 and 5
successively the remainder 2, 1 and 2
respectively. Find the remainders when
the number successively divided by 5, 4
and 3.

,d la[;k dks Øfed :i ls 3] 4 vkSj 5 ls foHkkftr
djus ij Øe'k% 2] 1 vkSj 2 'ks"k izkIr gksrk gSA tc
mlh la[;k dks Øfed :i ls 5] 4 vkSj 3 ls foHkkftr
fd;k tkrk gS rks 'ks"k Kkr djsaA
(a) 4, 0, 1 (b) 4, 2, 1

(c) 4, 1, 1 (d) 4, 1, 2,

46. When positive number x, y and z are
divided by 31, the reminders are 17, 24
and 27 respectively. When (4x – 2y + 3z)
is divided by 31, the remainder will be :

tc /ukRed la[;k x, y vkSj z dks 31 ls Hkkx fn;k
tkrk gS rks 'ks"kiQy Øe'k% 17, 24 vkSj 27 gksrs gSaA
tc (4x – 2y + 3z) dks 31 ls foHkkftr fd;k tkrk
gS] rks 'ks"kiQy D;k gksxk\

SSC CGL 2019 Tier-II (15/11/2020)

(a) 9 (b) 8

(c) 16 (d) 19

47. When positive number a, b and c are
divided by 13, the reminders are 9, 7 and
10 respectively. What will be the
remainder when (a + 2b + 5c) is divided
by 13?

tc /ukRed la[;k a, b vkSj c dks 13 ls Hkkx fn;k
tkrk gS rks 'ks"kiQy Øe'k% 9, 7 vkSj 10 gksrs gSaA
tc (a + 2b + 5c) dks 13 ls foHkkftr fd;k tkrk
gS] rks 'ks"kiQy D;k gksxk\

SSC CGL 2019 Tier-II (16/11/2020)

(a) 10

(b) 5

(c) 9

(d) 8
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48. If x is the remainder when 361284 is divided
by 5 and y is the remainder when 496

is divided by 6, then what is the value of
(2x – y) ?

;fn x, 361284 dks 5 ls foHkkftr djus ij vkus okyk
'ks"kiQy gS rFkk y, 496 dks 6 ls foHkkftr djus ij
vkus okyk 'ks"kiQy gS] rks (2x – y) dk eku D;k gS\

SSC CGL Tier-II, 13 September 2019

(a) – 4 (b) 4

(c) – 2 (d) 2

49. What is the remainder when (12797 + 9797)
is divided by 32?

tc (12797 + 9797) dks 32 ls Hkkx fn;k tkrk gS]
rks 'ks"kiQy D;k vk,xk \

SSC CGL Tier-II, 13 September 2019

(a) 4 (b) 2

(c) 7 (d) 0

50. What is the remainder when we divide 570

+ 770 by 74?

tc ge 570 + 770 dks 74 ls Hkkx nsrs gSa] rks 'ks"kiQy
D;k vk,xk\

SSC CGL 7 March 2020 (Evening)

(a) 7 (b) 1

(c) 0 (d) 5

51. When (7777 + 77) is divided by 78, the
remainder is :

tc (7777 + 77) dks 78 ls foHkkftr fd;k tkrk
gS] rks 'ks"kiQy fdruk vk,xk\

CHSL 2019 12/10/2020 (Afternoon)

(a) 75 (b) 77

(c) 76 (d) 74

52. Given that N = 2525, what will be the
remainder when N is divideb by 9 ?

fn;k x;k gS N = 2525, N dks 9 ls foHkkftr djus
ij D;k 'ks"k izkIr gksxk\
(a) 3 (b) 5

(c) 7 (d) 8

53. Given that N = 520, what will be the
remainder when N is divideb by 7 ?

fn;k x;k gS N = 520, N dks 7 ls foHkkftr djus
ij D;k 'ks"k izkIr gksxk\
(a) 4 (b) – 4

(c) – 1 (d) None of these

54. Given that N = 2001000, what will be the
remainder when N is divideb by 17 ?

fn;k x;k gS N = 2001000, N dks 17 ls foHkkftr
djus ij D;k 'ks"k izkIr gksxk\
(a) 1 (b) 2

(c) 3 (d) 4

55. Given that N = (2222)5555 + (5555)2222.
What will be the remainder when N is
divided by 7?

fn;k x;k gS N = (2222)5555 + (5555)2222. tc
N dks 7 ls foHkkftr fd;k tkrk gS rks D;k 'ks"k
cpsxk\
(a) 0 (b) 1

(c) 2 (d) 3

56. If 17200 is divided by 18, then what will
be the remainder?

;fn 17200 dks 18 ls foHkkftr fd;k tk, rks 'ks"kiQy
D;k gksxk\
(a) 1 (b) 2

(c) 16 (d) 17

57. If 231 is divided by 5, then what will be
the remainder?

;fn 231 dks 5 ls foHkkftr fd;k tk, rks 'ks"kiQy
D;k gksxk\
(a) 4 (b) 3

(c) 2 (d) 1

58. (719 + 2) is divided by 6, the remainder will
be :

(719 + 2) dks 6 ls foHkkftr djus ij 'ks"k izkIr gksxk %
(a) 5 (b) 3

(c) 2 (d) 1

59. (719 + 2) is divided by 6 would leave a
remainder of :

(719 + 2) dks 6 ls foHkkftr djus ij 'ks"kiQy izkIr
gksxk %
(a) 0 (b) 3

(c) 5 (d) 11

60. 96 – 11 is divided by 8 would leave a
remainder of :

96 – 11 dks 8 ls foHkkftr djus ij 'ks"kiQy izkIr
gksxk %
(a) 0 (b) 1

(c) 2 (d) 6

61. If n is even (6n – 11) is divisible by

;fn n le la[;k gks rks (6n – 11) foHkkftr gksxh %
(a) 37 (b) 35

(c) 30 (d) 6

62. When 231 is divided by 5, the remainder
is :

tc 231 dks 5 ls foHkkftr fd;k tkrk gS rks izkIr
'ks"kiQy gS %
(a) 4

(b) 3

(c) 2

(d) 1
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63. When 17200 is divided by 18, the
remainder is :

tc 17200 dks 18 ls foHkkftr fd;k tkrk gS rks
izkIr 'ks"kiQy gS %
(a) 17 (b) 16

(c) 1 (d) 2

64. The remainder when 321 is divided by 5 is :

321 dks 5 ls foHkkftr djus ij 'ks"kiQy izkIr gksxk %
(a) 1 (b) 3

(c) 2 (d) 4

65. When 200 is divided by a positive integer
x, the remainder is 8. How many values
of x are there?

tc 200 dks fdlh /ukRed iw.kk±d x ls Hkkx fn;k
tkrk gS] rks 'ks"kiQy 8 vkrk gSA x ds fdrus eku gSa\

SSC CGL 3 March 2020 (Afternoon)

(a) 7 (b) 5

(c) 8 (d) 6

66. When 732 is divided by a positive integer
x, the remainder is 12. How many value
of x are there?

tc 732 dks ,d /ukRed iw.kk±d x ls Hkkx fn;k
tkrk gS] rks 'ks"kiQy 12 vkrk gSA x ds fdrus eku
gSa\

SSC CGL 3 March 2020 (Morning)

(a) 19 (b) 20

(c) 18 (d) 16

67. Two numbers 11284 and 7655 is divided
by three digits numbers leaves the same
remainder. That three digit number is :

nks la[;k,¡ 11284 vkSj 7655 dks fdlh 3 vadh;
la[;k ls Hkkx nsus ij leku 'ks"k jgrs gSaA ;g rhu
vadh; la[;k gS &
(a) 199 (b) 197

(c) 193 (d) 191

68. 'a' divides 228 leaving a remainder 18.
The biggest two-digits value of 'a' is :

228 dks 'a' ls foHkkftr djus ij 'ks"k 18 izkIr gksrk
gSA 'a' dk nks vadh; vf/dre eku gS %
(a) 70 (b) 21

(c) 35 (d) 30

69. 64329 is divided by a certain number.
While dividing the numbers, 175, 114 and
213 appear as the three successive
remainders. The divisor is :

64329 dks ,d fuf'pr la[;k ls foHkkftr fd;k
tkrk gSA la[;kvksa dks foHkkftr djrs le;] 175]
114 vkSj 213 yxHkx rhu Øekxr 'ks"kiQy gSaA Hkktd
gS %

(a) 184 (b) 224

(c) 234 (d) 256

70. 7 is added to a certain number, the sum
is multiplied by 5, the product is divided
by 9 and 3 is substracted  from the
quotient. Thus if the remainder left is 12,
what was the original number?

,d fuf'pr la[;k esa 7 tksM+k tkrk gS] ;ksx dks 5 ls
xq.kk fd;k tkrk gS] xq.kuiQy dks 9 ls foHkkftr
fd;k tkrk gS vkSj HkkxiQy ls 3 ?kVk;k tkrk gSA bl
izdkj ;fn 'ks"kiQy 12 izkIr gksrk gS] rks ewy la[;k
D;k Fkh\
(a) 30 (b) 20

(c) 40 (d) 60

71. If 243 gives a remainder of 4 when
divided by a certain natural number n,
what will be the remainder when 482 is
divided by 2n assuming that the quotient
in both cases is the same?

243 dks fdlh fuf'pr izkÑfrd la[;k n ls Hkkx
nsus ij 4 'ks"k cprk gSA 482 dks 2n ls Hkkx nsus ij
'ks"kiQy D;k gksxk] ;g ekurs gq, fd HkkxiQy nksuksa
n'kkvksa esa leku gSaA
(a) 1 (b) 4

(c) 5 (d) 8

72. N = 1234567......55. Find the remainder
when N is divided by 16.

N = 1234567......55, N dks 16 ls Hkkx nsus ij
'ks"kiQy Kkr djsaaA
(a) 13 (b) 15

(c) 18 (d) 22

73. Three numbers 5920, 7976 and 10803
when divided by a three digit number 'n'
leaves the constant remainder in each case.
So n can be :

rhu la[;kvksa 5920, 7976 vkSj 10803 dks ,d rhu
vadksa okyh la[;k n ls Hkkx nsus ij izR;sd n'kk esa
,d leku 'ks"k cprk gSA n dk laHkkfor eku gS %
(a) 198 (b) 199

(c) 252 (d) 257

74. Ritwik made a mistake of dividing a
particular number by 11 instead of 9. It
was observed that remainder has
increased by 4. If the two quotients differ
by 2 find the number.

fjfRod fdlh fo'ks"k la[;k dks xyrh ls 9 ds cnys
11 ls Hkkx ns nsrk gS ftlls 'ks"kiQy esa 4 dh o`f¼
gks tkrh gSA ;fn nks HkkxiQyksa esa 2 dk varj gks rks
la[;k Kkr djsaA
(a) 83 (b) 91

(c) 96 (d) 101
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75. R = Remainder when (1! + 2! + 3! +
......120!) is divided by 15. find R.

(1! + 2! + 3! + ......120!) dks tc 15 ls Hkkx
fn;k tkrk gS rks R 'ks"k cprk gSA R dk eku gS %
(a) 0

(b) 1

(c) 2

(d) 3

76. If X = (123 + 133 + 143 + 153), then what
is the remainder when X is divided by 9?

;fn X = (123 + 133 + 143 + 153) gS] rks X dks
9 ls foHkkftr djus ij 'ks"kiQy D;k gS\
(a) 0

(b) 1

(c) 27

(d) None of these

77. Given that N = 15123 + 17123. Find the
remainder if N is divided by 96.

fn;k x;k gS N = 15123 + 17123, N dks 96 ls Hkkx
nsus ij 'ks"kiQy Kkr djsaA
(a) 64

(b) 48

(c) 8

(d) 56

78. If X = (163 + 173 + 183 + 193), then
X

70
leaves a remainder of

1.(a) 2.(a) 3.(a) 4.(a) 5.(c) 6.(b) 7.(c) 8.(b) 9.(b) 10.(b)

11.(d) 12.(d) 13.(b) 14.(d) 15.(c) 16.(b) 17.(a) 18.(c) 19.(d) 20.(c)

21.(d) 22.(b) 23.(d) 24.(b) 25.(d) 26.(b) 27.(b) 28.(c) 29.(c) 30.(d)

31.(b) 32.(a) 33.(d) 34.(d) 35.(b) 36.(b) 37.(a) 38.(a) 39.(d) 40.(b)

41.(d) 42.(c) 43. (a) 44. (b) 45.(c) 46.(b) 47.(d) 48.(c) 49.(d) 50.(c)

51.(c) 52.(c) 53.(a) 54.(a) 55.(a) 56.(a) 57.(a) 58.(b) 59.(b) 60.(d)

61.(b) 62.(b) 63.(c) 64.(b) 65.(c) 66.(b) 67.(d) 68.(a) 69.(c) 70.(b)

71.(b) 72.(b) 73.(d) 74.(a) 75.(d) 76.(a) 77.(a) 78.(a) 79.(c) 80.(a)

;fn X = (163 + 173 + 183 + 193)] rks X dks 70
ls Hkkx nsus ij 'ks"kiQy D;k cpsxk\
(a) 0

(b) 1

(c) 69

(d) 35

79. When a number N is divided by D the
remainder is 41 and when N is divided by
12D the remainder is 105. What is the
remainder when N is divided by 6D?

tc ,d la[;k N dks D ls foHkkftr fd;k tkrk gS
rks 'ks"kiQy 41 cprk gS vkSj N dks 12D ls Hkkx
nsus ij 'ks"kiQy 105 vkrk gSA N dks 6D ls Hkkx
nsus ij D;k 'ks"kiQy izkIr gksxk\
(a) 104

(b) 0

(c) 105

(d) 384

80. What is the remainder when (11 + 22 + 33

+ 44+ ...... + 100100) is divided by 4?

(11 + 22 + 33 + 44+ ...... + 100100) dks 4 ls
Hkkx nsus ij 'ks"kiQy D;k cpsxk\
(a) 0

(b) 1

(c) 2

(d) 3

Answer Key
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